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3. Which one among the following has
largest energy per photon ?

(a) X-ray
(b) Ultra-violet ray
(c) Visible-ray
(d) Infra-red ray
. In Sun-Earth system, the distance

between Lagrange points L2 and L3 is
about

(a) 15 lakh kilometre
(b) 30 lakh kilometre
(c) 16 crore kilometre

(d) 32 crore kilometre

5. Which one of the following statements

with regard to greenhouse effect is
correct ?

(a) It can take place inside a glass
chamber where no radiation can
_ pass into it or pass back through it

(b) It can take place inside a glass
chamber where long wavelength
infrared radiation can pass through
into it and short wavelength
infrared radiation cannot pass .
back through it

(c) It can take place inside a glass
chamber where short wavelength
infrared radiation can pass through
into it and long wavelength
infrared radiation cannot pass
back through it

(d) It can take place inside a glass
chamber where all infrared
radiation can pass into it or pass
back through it

6. A canon shoots a ball upwards with an
initial speed of 100 m/s. The total time
of flight of the ball is 20 s before it hits
the ground. The ball looses 70% of its
speed after hitting the ground. Which
among the following is the correct
height that the ball will bounce up after
its first bounce ? (g =10 m/s?)

(@) 100 m
(b) 70 m
(c) S50m

(d) 45 m

7. Which one of the following statements
correctly defines PM1 particles in air ?

(a) These are suspended particles of
diameter more than 10 micron

(b) These are the particles that are
filtered by the nose during
respiration

(c) These are extremely fine particles
of diameter less than 1 micron

(d) These are coarse particles that
penetrate directly through the
lungs into the bloodstream



8.

10.

11.

Which one of the following heat
transfer mechanism does NOT require
a medium ?

(a) Conduction
(b) Convection
(c) Radiation
(d) Collision

Which one among the following does

NOT have any linkage with the
phenomenon of  electromagnetic
induction ?

(a) Electric transformer
(b) Induction cooker
(c) Galvanometer

(d) Electron microscope

Which one among the following
statements about matter is NOT
correct ?

(a) On increasing the temperature of
solids, the kinetic energy of
particles increases

(b) The maximum temperature at

which a solid melts to become a

liquid at atmospheric pressure is

called its melting point

Particles of steam have more
energy than water at 100°C

©

(d) Direct change of gas to solid is

called deposition

12.

13.

l4'

The isotope of which one among the
following elements is used in the
treatment of cancer ?

(a) Uranium
(b) Cobalt
(c) Iodine

(d) Fluorine

Water is a good solvent for dissolving
ionic compounds because

(a) It has a high specific heat
(b) It has no colour

(c) It has a high dipole moment
(d) It has a high boiling point

Which among the following is correct
with respect to bond formation in an
ethyne molecule ?

(a) Carbon-Carbon single bond
(b) Carbon-Carbon double bond
(c) Carbon-Carbon triple bond

(d) Carbon-Hydrogen double bond



15. Which among the following are the
main ingredients for manufacturing of

glass ? cPPF AL

(a) Silica, sodium carbonate, borax,
alumina and cullets

(b) Iron oxide, lead, sodium bicar-
bonate, alumina and cullets

(c¢) Magnesium carbonate, alumina,
silica and cullets

(d) Iron oxide, sodium, alumina, silica
and cullets

16. Which one among the following
statements with respect to the atomic
number of an atom is correct ?

(a) The number of neutrons is same
as atomic number

(b) The sum of electrons and neutrons
is same as atomic number

(c) The number of protons is same
as atomic number

(d) The sum of protons and neutrons
is same as atomic number

17. Which one among the following is an
example of endothermic process ?

(a) Combustion of carbon
(b) Mixing acid and alkali
(c) Photosynthesis

(d) Respiration

18. Which one among the following is

19.

used in the manufacture of ultra-violet
protective glasses ?

(a) Aluminium oxide
(b) Tungsten oxide
(¢) Molybdenum oxide

(d) Cerium oxide

Match List I with List IT and select the
correct answer using the code given
below the Lists :

List I List II
(Pigment in paint) (Example)
A. Natural pigment 1. Chalk
B. Synthetic pigment 2. White lead
C. Reactive pigment 3. Red lead
D. Inert pigment 4. Tltamum
e CHPF pL dioxide
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20. Match List I with List IT and select the 22. In which organism did Gregor J.

correct answer using the code given Mendel conduct the experiment to
below the Lists : explain principles of inheritance ?
List I - ListII (a) Groundnut
(Element) (Unpaired electron) (b) Garden Pea
ke e o (c) Four O’clock plant
B. Nitrogen 2. Two (d) Fruit fly
C. Oxygen 3. One
D. Neon 4. Three 23. In which layer of the plant tissue Guard
cells are present ?
e (a) Palisade mesophyll
e T (b) Spongy mesophyll
4
@) A () Epidermis
b 1 2 4 3
(d) Xylem
(O R B T Sl | ;
@ 3 4 2 1 24. Identify the correct option from the

following about the proportion of
different gases in Biogas ?

21. Which one among the following Y%

(a) Methane > Carbon dioxide >

biotechnologies is applied to manufac-

ture pharmaceutical products such as Nitrogen

insulin, antibiotics and vaccines ? (b) Methane > Nitrogen > Carbon

(a) White Biotechnology ¢ (\C dioxide

(b) Red Biotechnology cP (c) Methane > Oxygen > Carbon
: 1\' monoxide

(c) Green Biotechnology 20

' v (d) Nitrogen > Methane > Carbon

(d) Blue Biotechnology dioside

25. Which one of the following is the 26. In what form excess of glucose is

audible range of hearing for humans ? stored in human body ?
(a) 20 kHz — 200 kHz (a) Fructose

(b) 20 Hz - 20 kHz (b) Glycogen

(c) 20 Hz - 35 kHz (c) Glucose

(d) 20 Hz — 40 kHz (d) Starch



28. Which one of the following is the
correct chronology of invention/
discovery in the field of Bio-
technology ?

(a) Discovery of Plasmid, Double

(b)

(©)

(d)

Helical structure of DNA, DNA
fingerprinting, cloning of Dolly

Double Helical structure of DNA,
Discovery of Plasmid, DNA
fingerprinting, cloning of Dolly

DNA fingerprinting, cloning of
Dolly, Double Helical structure of
DNA, Discovery of Plasmid

Double Helical structure of DNA,

DNA fingerprinting, Discovery of
Plasmid, cloning of Dolly

29. In an ecosystem why is the number of
trophic levels of a food chain usually
limited ?

(@)

(®)

©

@

Lower trophic level has lesser

energy than the higher trophic
level

Because of the loss of enetgy at
each trophic level

Higher trophic level individual
can control the lower ones more
efficiently

Limited trophic level makes a
food chain less vulnerable to

parasites

30. Which one of the following structure
is NOT found in.prokaryotes ?

(a) Nuclear envelope
(b) Cell membrane
(c) Ribosome

(d) Cell wall



lo.

11.

12.
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Pure, demineralized water, free from all
soluble mineral salts is obtained by which of
the following method ?

(a) Passing water through microfiltration
membrane

(b) Calgon’s method

(¢) Passing water through a cation
exchange and an anion exchange resin
bed

(d) By boiling
Consider the following redox reaction :
2Cuy0 (s) + CuyS () — 6Cu (s) + SO, (g)

Identify the species among the following
acting as oxidant and reductant, respectively :

(a) Cu(l) and S of CuyS
(b) CuandS of SO,

(¢) Cuand O of SO,
(d) Cu(l) and O of SO,

Which one of the following statements is not |

correct regarding the setting of cement ?

(a) The addition of a small percentage of
gypsum (CaSO,) lengthens the setting
period of cement.

(b)  According to the colloidal theory, gels of
hydrated silicates are formed and when
these gels harden, the set cement loses
strength.

(¢) Tricalcium silicate is responsible for
initial setting of cement.

(d) Dicalcium silicate and tricalcium silicate
are responsible for the final strength

which occurs in about a year.

14.

19.

|21.

Which one of the following metals does not
react with oxygen directly ?

(a)
(b)
(c)
(d)

Ti

Fe

Pt

Zn

Which organelle other than nucleus in
eukaryotic cells has its own DNA, ribosomes
and proteins ?

(a)
(b)
(c)
(d)

Golgi
Mitochondria
Lysosomes

Nucleosomes

For protein synthesis, the amino acids are

recognized and carried by :

(a)
(b)
(c)
(d)

mRNA

snRNA
miRNA
tRNA

In vertebrates, smooth endoplasmic reticulum

in cells of which organ plays a crucial role in
detoxification of toxic compounds ?

(a)
(b)
(c)
(d)

Spleen
Intestine
Kidney

Liver




The rate of an enzyme catalyzed reaction
depends :

(a) upon substrate concentration,
temperature and pH.

(b) only on substrate concentration and pH,
but not on temperature.

(¢) only on pH and temperature, but not on
substrate concentration.

(d) only on temperature, but not on pH and

substrate concentration.

Both starch and glycogen are made up of
glucose, however :

(a) starch is present in liver and glycogen is

present in red blood cells.
(b) glycogen is made in animal cells, but
starch is made in plant cells.

(¢)  both starch and glycogen are present in

animal and plant cells.

(d)  both starch and glycogen are present in

plant cells only.

In some viral infections, number of platelets
are reduced quickly. Platelets are essential
because :

(a) they along with red blood cells carry

oxygen.

(b) platelets are important to carry food to

cells through blood.

(¢) platelets remove carbon dioxide from

blood.

(d) platelets have a role in blood clotting.

31.

340

Which one of the following is the main cause of
the acid rains ?

(a) The Sun causes heating of upper layer of |
atmosphere.

The burning of fossil fuels releases
oxides of carbon, nitrogen and sulphur
in the atmosphere.

The electrical charges are produced due
to friction amongst clouds.

The atmosphere of the Earth contains
acids.

(b)

(c)

(d

Biogas is considered to be an excellent fuel

which burns without smoke. The main
constituent of biogas is :
(a) methane

[v]
ol ompisd ot LR
(¢) carbon dioxide
(d) hydrogen sulphide

The depletion in atmospheric ozone layer in
last century was due to :

(a) chlorofluorocarbon
(b) carbon monoxide
(¢) methane

(d) pesticides

Which one of the following holds true for a
freely falling object ?
(a) It moves with a uniform velocity.

(b) It moves with a uniform speed.
(¢ It moves with a non-uniform
acceleration.

(d) It moves with a uniform acceleration.

A sound wave of frequency of 2 kHz has a
wavelength of 35 ¢cm in a given medium. How
long will it take to travel a distance of 2:1 km
through the medium ?

(a) 30s

®b) 21s

(¢ 30s

d 41s




51.

Which one of the following conservation laws
is a consequence of the Newton’s third law of
motion ?

(a) Conservation of energy

(b) Conservation of momentum

(¢) Conservation of charge

(d) Conservation of mass

The method used in separating a mixture of
two miscible liquids having sufficient
difference in their boiling points is :

(a) Filtration

(b) Solvent Extraction

(¢) Centrifugation

(d) Simple Distillation

Which one of the following statements is
correct ?

(a) Alloys are mixtures.

(b) Alloys are compounds.

(¢) Alloys are always made up of metals.

(d) Al alloys contain carbon as one of their

components.

The common element in graphite, fullerene,
diamond and graphene is :

(a) Oxygen

(b) Nitrogen 2 () 2&
(¢) Hydrogen C a??
(d) Carbon

The gas generated on reacting zinc with dilute

sulphuric acid is :
(a) Argon

(b) Helium

(¢) Hydrogen

(d) Nitrogen

61.

An aqueous solution of a salt is known as

brine. The salt is : /'
(@) Sodiumchloride CMF A
223

(b) Potassium chloride
(¢) Calcium chloride
(d) Sodium nitrate

In humans, urea is mainly formed from the
metabolism of which one of the following

components of food ?
(a) Fatty acids

(b) Vitamins

(¢) Amino acids
(d) Glucose

The lymph is mainly formed from the plasma
of blood and it surrounds the cells. The main
difference between blood and lymph is :

(a)
(b)

Lymph does not contain red blood cells.

Lymph does not contain white blood
cells.

(¢) Lymph contains both red blood cells and

white blood cells.

(d) Lymph does not contain any cells.

For the digestion of carbohydrate, protein and
fat, enzymes such as amylase, trypsin and
lipase are required. It is secreted into the
duodenum through :

(a) Bile
(b)
(©
(d)

Plasma

Lymph

Pancreatic juice

Lactic acid is formed in the muscles during
exercise or running. It is formed :

(a)
(b)
(c)
(d)

to give extra energy from fat.

to give extra oxygen from lungs.

to give extra energy from glucose.
to give extra energy from vitamins.




70. A simple harmonic motion of a particle

71.

is represented as, y = 10 cos ot 10. The
acceleration of the particle at time t = —2’:—0- will

be : (symbols here carry their usual meanings)
(a 1o

(b) -10e?
e O
@ >

w

A wire of resistance R is cut into four equal
parts. These parts are then connected in
parallel. If the equivalent resistance of this

combination is R’, then the ratio % is:

i

(a) s

—

(b)

B

(c)
(d 16
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3. A solid spherical ball made of iron is
melted and two new balls are made
whose diameters are in the ratio of 1: 2.
The ratio of the volume of the smaller

12. Which of the following combinations
correctly represents the genetic
materials in prokaryotes and

new ball to the original ball is eukaryotes respectively?

(@ 1:3 (a) Nucleoid and Chromatin
(b) 1:5 (b) Chromatin and Nucleoid
(c) 2:9

(c) Nucleoid and Nucleolus

(d 1:9 .
(d) Nucleolus and Chromatin

6. Trough and ridge are
13. Lysosomes are sacs of the cell filled

(a) elongated area of low pressure and with digestive enzymes. These digestive
of high pressure respectively enzymes are synthesized by

(b) elongated areas of low pressure (a) Golgi bodies

(c) elongated areas of high pressure (b) smooth endoplasmic reticulum

(d) elongated area of high pressure and (c) rough endoplasmic reticulum

of low pressure respectively
(d) lysosome itself
8. The organisms that prefer high salt

concentration habitats refer to as 3 ¥
14. Which of the following best represents

the cells of a meristem of plant?
(a) alkaliphiles
(a) Dense cytoplasm, thin cell wall,
(b) calcifuges large nuclei and absence of
vacuoles
{c) halophiles
(b) Dense cytoplasm, thin cell wall,

@ e large nuclei and large vacuoles
) nitrophiles

15. Which one of the following animals has () Dense cytoplasm, thin cell wall,
a four-chambered heart? small nuclei and absence of
vacuoles

(a) King cobra

(d) Dense cytoplasm, thick cell wall,

(b) Turtle small nuclei and large vacuoles

() Chameleon

(d) Crocodile



16. One way of incorporating desired
characters into crop varieties is
hybridization. In this process, there is 19. Phloem tissues are mostly responsible
crossing between genetically dissimilar for transport of
plants. Which one of the following
crossings will not refer to hybridization?

(a) water
(a) Intervarietal
(b) Interspecific () W‘en
(c) Intergenic (c) minerals
(d) Intragenic
(d) food

17. Depending on the requirements,
plant nutrients are classified as
micronutrients and macronutrients.
Which one of the following is an
example of a macronutrient?

20. Two objects, x and y, have equal mass
and are moving with speeds u and 3u
respectively. Their kinetic energies

{a) Manganese ky and k, are related as
(b) Copper (@ ky=k,
(c) Magnesium
(b) 2ky =k
(d) Chlorine P
(c) 9%y =k,

18. Buds produced in the notches along the
leaf margin of Bryophyllum fall on soil (d) 3k, = ky
and develop into new plants. This is
an example of which one of the following
types of reproduction?

(a) Vegetative propagation 21. Which one of the following is not the
unit of pressure?

(b) Budding

(c) Spore formation (a) pascal (Pa)

(d) Regeneration (b) N/m2

f¢) J/m?

(d) bar



22. Which one of the following materials 26. At the time of short circuit, the current
cannot be used to make a convex lens? in an electric circuit

(@) Aluminium

() Glass fa) becomes zero

(c) Sapphire (b) remains same
(d) Water
fc) increases sharply

23. The optical phenomenon responsible for
the blue colour of sky is (d) decreases sharply

(a) dispersion

(b) reflection
27. If the linecar momentum of a moving
(c) refraction object changes by two times, then its
(d) scattering : kinetic energy will change by a factor of
. i . (a) 2
24. The electrical device used for converting
mechanical energy into electrical energy
is called (b) 4
(a) voltmeter
(b) ammeter Q-6
(c) motor [d 8
(d) generator
25. The magnitude of focal length of 28. Which one of the following oxides
a concave lens is 2 m. What is the power ts with both acid and base?
of the lens?

(@) +0-S dioptre fa) Aluminium oxide
(b) -0.5 dioptre

(c) +2-0 dioptre (b) Calcium oxide
(d) -1-0 dioptre po T

(d) Potassium oxide



29. Which of the following makes bread
soft and spongy when baking soda is
added?

(a) Sodium salt of acid

(b) NaHCO,

Gl arL 1

(d) H,0

35. Borax is prepared from
(a) calcium carbonate
(b) magnesium carbonate
(c) potassium carbonate
(d) sodium carbonate
36. Cinnabar is an ore of
(a) mercury
(b) zinc
(c) copper

(d) lead

37. White gold is an alloy of

(a) gold, nickel and palladium

(b) gold, cobalt and palladium

(c) gold, titanium and platinum

(d) gold, magnesium and palladium

38. Hydrogenation of alkenes can be carried

out in the presence of

(a) copper

(b) zinc (_Pq?f

(c) aluminium &D;i
(d) nickel

39. Calcium oxide reacts with water to
produce slaked lime. It is an example of

(a) combination reaction
(b) decomposition reaction
(c) oxidation reaction

(d) addition reaction

40. The atomic radius of hydrogen atom is

(a)
()
(c)
(d)

37 nanometer
37 picometer
17 picometer

57 picometer
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1. The time elapsed between viewing a 4. An object is placed 10 cm in front of
lightning flash and hearing the thunder a lens. The image formed is real,
of a cloud is 10 s. If the speeds of inverted and of same size as the object.
sound and light in air are 330 m/s and What is the focal length and nature of
3x 108 m/s respectively, how far away the lens?

is the storm?

(@) About 1650 (a) 5 cm, converging
(¢} u m

(b) About 3300 m (b) 10 cm, diverging
(c) About 990 m () 20 cm, converging
(d) About 1000 m (d) 20 cm, diverging

2. What is the approximate wavelength of
violet light in air? 5. Which one of the following statements
with regard to a short-sighted person is

(@ 07 ym correct?

(b) 06 pm (a) A short-sighted person sees the
near objects blurred but distant
objects clearly and a convex lens
() 05 pm is used to correct this defect.

(@) 04 pm (b) A short-sighted person sees the

near objects clearly but distant

objects blurred and a concave lens
3. Which electromagnetic radiation(s) is/are is used to correct this defect.

used to cook food?

(c) A short-sighted person sees the
(a) Infrared radiation only near objects blurred but distant
objects clearly and a concave lens

(b) Microwave ra diation only is used to correct this defect.

A short-sighted person sees the
near objects clearly but distant
objects blurred and a convex lens
(d) All electromagnetic radiations is used to correct this defect.

(c) Infrared and microwave radiations (@



6. Which one of the following organelles is 10. Which one of the following diseases does

not found in animal cells? not transmit through fine droplets
coming out from mouth or nose of an

(a) Cell membrane infected person?

(b) Endoplasmic reticulum (@) Pneumonia

c) Cell wall (b)) COVID-19
(d) Lysosome (c) HIV-AIDS
7. Which one of the following plant tissues (d) Tuberculosis

has large air spaces?

11. Which one of the following is not
a breakdown product of glucose during
respiration?

(a) Sclerenchyma

(b) Meristem

(a) Ethanol
(c) Collenchyma :

(b) Lactic acid
(d) Aerenchyma

8. Which one of the following is not a (c) Water

connective tissue?
(d) Methanol
(a) Ligament

12. Which one of the following is an example

(b) Tendon of endothermic reaction?

(c) Smooth muscle (a) CaO(s) +H,0() — Ca(OH),(aq)

Stupy Funpa

(d) Cartilage (b) CaCOj4(s) - CaO(s) +CO,(g)

9. Which one of the following organisms d\p? AC

belongs to the kingdom Monera? (c) C(s)+0,( — CO, @)
R

(d) CH,4(g)+20,(8) — CO,(8)+2H,0()

(a) Diatom

(b) Euglena
AP

(c) Anabaena ava \

(d) Ulothrix



13. Packets of potato chips are usually ’ :
3 g 3 17. When calcium metal reacts with
flushed with which one of the following e ,
e sulphuric acid, the reaction stops after
gases to prevent rancidity? a short while. Why?

(a) Carbon dioxide (@) The reaction of calcium with
sulphuric acid is not feasible at

(b) Hydrogen C ‘QQ? 201\ room temperature
(b)) Formed calcium sulphate is
E insoluble in water and covers the

Nitrogen .
\M ge calcium metal, preventing it from
reacting any further
(d) Oxygen

(c) Formed calcium sulphate requires

14. According to early Indian philosophers, FESPRCIIN O WRtR InTeratalin

: : as gypsum

what are the basic elements described

in Pancha Tattva ? (/9? 7 2».2( (d) Formed calcium sulphate is
unstable

(a) - Earth, Fire, Sky, Gas and Water
18. When a white light beam is made to fall

(b) Air, Earth, Fire, Sky and Water on a hollow prism filled with water,
it breaks into seven constituent colours.
(c) Gas, Land, Fire, Sky and Water Which of the following colours suffers

the maximum angle of deviation?

(d) Air, Earth, Fire, Land and Water

(a) Red
15. A milkman adds a small amount of
baking soda to milk. This makes the pH (b) Violet
of the milk
(a) strongly alkaline (c) Green

(b) weakly alkaline
(d) All suffer by equal amount of
(c) strongly acidic deviation

20. Which one among the following is not

). - wellis scidis a luminous object?

* ¥ %

16. Which one of the following metal oxides

: ; (@) Sun
does not usually react with sodium

hydroxide? )
(b) Proxima Centauri
2 StupY FUNDA
(a) Copper oxide
(c) Jupiter
(b) Aluminium oxide .
(c) Potassium oxide (d) Alpha Centauri

(d) Calcium oxide



21. Let an electric current of 1:5 A flow

through an incandescent lamp in
a circuit. What is the amount of charge
that flows through it in 10 ms?

(@) 0015 C

(b) 015 C

) 15C

(d 15 C

22. Which one among the following is not

a renewable energy source?

(a) Solar

(b) Wind

(¢) Nuclear

(d) Hydroelectric

23. Which one of the following is not

a function of chlorophyll?

(a) Splitting of water

(b) Absorption of photon

(c) Oxidation of carbohydrate

(d) Conversion of light energy into
chemical energy

24. Which one of the following statements
about life processes in single-celled
organisms is not correct?

(a) They require separate organ for
food uptake.

(b) Separate organ is not needed for
respiration.

(c) Waste of excretory material is
produced by these organisms.

(d) They remain in contact with
external environment.

25. Which one of the following organisms

does not possess notochord at any
stage of its life cycle?

(a) Holothuria
(b) Herdmania
(c) Exocoetus

(d) Salamander

26. Which one of the following pairs is not

correctly matched?

(a) Positively phototropic: Shoot

(b) Positively geotropic : Root

(c) Chemotropic : Pollen tube
(d) Hydrotropic : Flower

27. Which one of the following metals does

not react with oxygen, water or acids?
(a) Na
(b) Cu
(c) Fe
(d) Au

28. Which one of the following metals

produces hydrogen with cold water?
(a) Silver

(b) Sodium

(c) Copper

(d) Iron

A
»

StupY FunDA
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29, Mangane‘e is extracted by heaﬁng 30. Which one of the following propertica

manganese dioxide with aluminium
powder. Which one of the following
statements with regard to the reaction is
correct?

(a) The reaction is exothermic.
(b) The reaction is endothermic.
(c) Manganese is produced as a solid.

(d) Manganese is more reactive than
aluminium.

Stupy Funpa

—— OFFICER IN MAKING —

decreases across the periodic table from
left to right and increases from top to
bottom?

(a) lonization energy

(b) Electron affinity

(c) Electronegativity

(d) Atomic radius
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1. Which one of the following statements

for an object falling freely under the
influence of gravity is correct ?

(@) Zero acceleration always implies
zero velocity

(b) Zero acceleration has no rekation
with the velocity of the object -

(¢) Zero velocity at any instant neces-
sarily means zero acceleration at
that instant

(d) Acceleration is constant all
~ throughout the free fall

2. Two magnetic field lines produced by

the same source

(a) never intersect |

(b) can originate from same point
(c) can terminate at same point

(d) can intersect depending on situa-
tion

3. Which one of the following statements

regarding Fleming’s Rule is correct ?

(a) Fleming’s left hand rule gives
~direction of force on a current-

carrying conductor in a magnetic

field

(b) Fleming’s right hand rule gives
direction of force on a current-
carrying conductor in a magnetic
field

(c) Both the left-hand and right-hand
rule can be used for finding direc-
tion of force on a current-carrying
conductor in a magnetic field

(d) Fleming’s rules has nothing to do
with magnetic field

2020 EXAM

4. Which one of the following statements

regarding motion is com}ct ?

(a) All the periodic motions are
necessarily simple harmonic

(b) Al the simple harmonic motions
are necessarily periodic motions

(c) There is no co-relation between
the simple harmonic motions and
the periodicity of motion

(d) The relation between the simple
harmonic motion and periodic
motion depends upon the mass of
object undergoing the motion

S. The radar used by police to check

over-speeding vehicles works on the

principle of vﬂ c F ﬁ C
2020

(a) Raman effect

(b) Induction effect
(c) Dc;ppler effect
(d) Coulomb effect

6. Which one of the following statements

with regard to Newton’s third law of
motion is NOT correct ?

(a) Force never occurs singly in
nature

(b) When the earth pulls a stone
downwards due to gravity, the
stone exerts a force on the earth

(c) There is ‘a cause-effect relation
implied in the third law

(d) There is no cause-effect relation
implied in the third law



7. Magnesium is used in 10. Which one of the following gases
produces a red light when electricity

(a) fireworks to make a bright white - flows through it ?
light
(a) Helium
(b) gemstones in jewellery
(b) Argon
(c) examination of alimentary canal .
of the patient (¢) Nitrogen
(d) Neon

(d) purification of water

11. Which one of the following methods
can be used to remove permanent
hardness of water ?

8. Which one of the following ingredients
does NOT constitute paint ?
pe &

(a) Turpentine oil (thinner) :,Qo (a) Boiling
(b) Poly-hydroxy phenols (anti-skin- " (b) Ion-exchange
ning agent)

(¢) Lime treatment
(c) Thiourea (accelerator) *

(d) Bubbling sulphur dioxide gas
(d) Titanium dioxide (pigment)

12. Which one of the following is NOT

9. Which one of the following statements a component of photochemical smog ?
about alkaline - earth metals is NOT
true ? (a) Ozone

(a) Strontium salts burn with a red (b) Peroxyacetyl nitrate

flame (c) Polyaromatic hydrocarbons
(b) Barium metal is used in medicine © (d) Nitric oxide
to examine the alimentary canal of

a patient by X-ra
P y y . 13. The eukaryotic chromatin is composed

(c) Green plants need magnesium in of * X

order to make the chlorophyll that

trap the. energy from sunlight in (a) DNA only ;@Z
photosynthesis _ B A

7 (b) DNA and Protein
(d) Red colour of gemstoﬁe Ruby is " () DNAand RNA
due to the element beryllium
present in it (d) RNA and Protein



14.

15.

16.
~ secreted into blood and which controls

17.

In which of the following phylum,
would you place an animal with a
bilaterally symmetrical, triploblastic
body without a true internal cavity
(coelom) ?

(a) Porifera

* ¥ x
(b) Platyhelminthes =1
(c) Cnidaria Mx
(d) Annelida R

During respiration in human beings,
the actual place of gaseous exchange is

(a) Bronchi Cﬁ PF AL
(b) Nasal passage

2020
(c) Alveoli
(d) Trachea

In human body, the hormone which is

the rate of heart beat is
(a) Adrenaline

(b) Thyroxine @
(©) Insulin ==2UA

(d) Testosterone

In human beings, certain chemicals

which cross the synapse between nerve .

cells are released from

(a) cell body of nerve cell

(b) nucleus of nerve cell

(c) nerve endings of nerve cell

(d) axon of nerve cell

18.

19.

20.

21.

Which one of the following is the
major function of platelets ?

(@) Clotting of blood

(b) O, transport

(c) Immunity

(d) Phagocytosis

An electron and a photon have same

de Broglie wavelength. It implies that
they have the same

(a) linear momentum
(b) energy
(c) speed
(d) angular momentum

Oil and water do NOT mix because of
the property of

(a) bulk modulus
(b) shear strain
(c) volume effect
(d) surface tension
At triple point the substance co-exists
in
1. Liquid phase
2. Solid phase
3. Vapour phase

Select the correct answer using the code
given below :

(a) 1only

(b) 1and2only
(c) 2and 3 only
(d 1,2and3



76. Which one of the following hormones
increases the heartbeat in mammals?

,\)09/1’2?’

{a) Insulin I'

(b) Melatonin sty FuNDA

# Some @uul’lm
N (/APF ‘,?oo?o

(c) Thyroxine

(d) Adrenaline

16. In human body, the hormone which is

secreted into blood and which controls
the rate of heart beat is

£ o 0l O
(a) Adrenaline o
(b) Thyroxine q F\

(¢) Insulin

Stupy Fupa
(d) Testosterone

= g%?ov&b



22, Latent heat corresponds to the change

in heat at constant
. (a) temperature only
(b) volume only

(c) pressure only

(d) temperature, volume and pressure

23. Which one of the following statements

. on photoelectric effect is NOT correct ?

(a) Albert Einstein received the Nobel
Prize in Physics for explaining
photoelectric effect

(b) For each metal, there is a
threshold frequency v, below
which this effect is not observed

(c) At a frequency v> v,, the kinetic
energy of ejected electrons does
not change on increasing the fre-
quency of incident light =

(d) The number of electrons ejected
is proportional to the intensity of
incident light

24. Which one of the following is the

average atomic mass of chlorine atom ?
(@) 359u
(b) 355 u
(¢) 350u

(d) 370u

25.

26.

27.

28.

"(c) Cytoplasm

Which one of the following is NOT
a heterocyclic aromatic compound ?

(a) Tropolone
(b) Furan

(c) Thiophene

(d) Pyridine
Which one of the following minerals is
NOT a naturally occurring silicate ?
(a) Feldspar
* ¥ %

(b) Zeolite < 7
(c) Mica = =

Stupy Funba
(d) Bauxite

In which part of the cell, the glucose is
converted into pyruvate ? -

CAPE Lodo

(a) Mitochondriafvum T um
Queghov

(d) Endoplasmic reticulum

(b) Nucleus

After fertilization, the ovuie and ovary
subsequently develop to form

(a) seed and fruit respectively
(b) fruit and seed respectively
(c) seed and flower respectively

(d) degenerated ovule and seedless
fruit respectively



29. Which one of the following statements

is correct ?

(a) Glucose breaks down to CO,, H,O
and energy in all organisms

(b) Glucose breaks down into ethanol,

CO, and energy in our muscle .

cells

(¢) Glucose breaks down into CO,,
H,O and energy in all aerobic
tissues

(d) Glucose breaks down into lactate
and energy in yeast

Stupy Funpa
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5. The principle involved in paper
chromatography is

(a) Absorption

(b)/ Partition

(c) Solubility -

(d) Volatility

76. When a longitudinal wave moves
through a certain medium, the quantity
which is transmitted through the
medium is

(2)
(b)
(c)

d

material of the medium only
energy only

both material of the medium and
energy

none of the above

o? cdld B u%l’: f‘DV\/G

5. Which one of the following is NOT a
luminous object ?

(a) Sun_
(b) Electric lamp
(c) Candle
(d) Moon
3. When a beam of white light is all.owec_i
to fall on a prism, the maximum

deviation of the emerging light occurs
for '

(a) red light
(b) violet light
(c) yellow light
(d) blue llght

4. Wthh one of the following Phen:
mena CANNOT be exhlblted by soun
Wwaves ?

(@) Reflection
(b) Refraction
(¢) Interference

(d) Polarisation



11 Whlch of the following organisms
belongs to Coelenterata (Cnidaria) ?

(2) Planaria and liverfluke
(b) Sea urchin and sea cucumber
(c) Hydra and sea anemone

(d) Euplectella and sycon

12. Bending of shoot of a plant towards
light can be referred to as

(a) photonasty
(b) positive phototropism .
© negative phototropism

(d) photoperiodism

45. Which one of the following statements
is correct ?

(a) Bacteria contain cytoplasm but
viruses do not

(b) Bacteria contain mitochondria but
viruses do not

(c) Viruses contain mitochondria but
bacteria do not

- (d) Viruses have a cell membrane but
bacteria do not

46. Which one of the following will
happen if the medium surrounding the
cell has a higher concentration than the
cell ?

(@) The cell will gain water
(b) The cell will die
(c) There will be no change

(d) The cell will lose water

77. The number of neutrons inside the
nucleus of the elgment Uranium-235 is

(@
(b)
©
(d)

235

92
143
51

96. Which one of the followin
kn
as Wood Spirit ? i

(@)
(b)
©
()

Methanol
Ethanol
Formaldehyde
Acetaldehyde

97. Which one of the following will NOT
show Tyndall effect ?

(2)

(b)
©

@)

Chalk powder freshly mixed with
water

Lime juice

Few drops of milk mixed with
water

Starch solution

StupY FunpA
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13. Epidermal cells of plant roots increase
their absorption surface by having

(a) Scales
(b) Root hairs

(c) Endodermis
. 47. Rough endoplasmic reticulum (RER) .

Dm looks rough under the microscope
: : because of the attachment of which
14. Quartz is extensively used as a piezo- one of following cell organelles to its

electric material. It contains surface ?

(a) Hg ST uo‘z/ f \]I‘) pﬂ (a) Centrioles

(b) Si (b) Plastids

© Ti - M p F &0 1 (c) Lysosomes

(d) Sn . " (d) Ribosomes
15. Which one of the following is used for 48. The increase in length of stems and

water softening ? roots in plants is due to

(a) Mg(HCO;), (a) lateral meristem

(b) NasPO, ' (b) intercalary meristem

(¢) NagPeOis (c) apical meristem

(d) Na,HPO, (d) secondary growth

16. If formula of sodium salt of an anion 49. In plant cells, the turgidity and rigidity
is provided by : i

X is NayX, then the formula of its

aluminium salt would be (a) ribosomes

(@ AIX (b) mitochondria

(b) AIX? (c)- golgi apparatus

(©) ALX; (d) vacuoles full of cell sap
) ALX; =

STtupY FUNDA 50. Pollens are produced in

OFFICER IN MAKING

(a) Corolla
(b) Style

(c) Stigma
(d) Anther



78. A snowboard pulled up by a tow rope

79.

travels at the rate of 5 m/s up a
mountain. If 3000 watt of power is
used, what force was applied to it ?

(a) 50N
(b) 100 N

(c) 600 N
(d) 15000 N

Which one of the following is NOT
true for an electromagnetic wave ?

_(a) Electromagnetic wave transports

80.

81.

energy and momentum

(b) Electromagnetic- wave can be
polarized and reflected

(c) Electromagnetic wave is longi-
tudinal

(d) Electromagnetic wave propaga-
tion is described by the varying
electric and magnetic fields

Which one of the followihg is NOT an
electromagnetic wave ?°

(a) Light wave

(b) Radio wave

(c) Sound wave

(d) Micro wave

Brilliance of diamond is due to’
(a) interference of light

() diffraction of light

(c) polarization of light

(d) total internal reflection of light

Stupy FUNDA
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99. Aluminium, Iron, Copper and Zinc are
extracted from '

(a) Bauxite, Magnetite, Malachite and
Calamine respectively

.' M Magnetite, Bauxite, Malachite and
Calamine respectively

(c) Calaimine, Malachite, Magnetite
and Bauxite respectively

(d) Malachite, Magnetite, Bauxite and
Calamine respectively

_ 100. Which one of the following does NOT

’conta.in COOH group ?
(a) Citric acid

(b) Lactic acid

(c) Tartaric acid

(d) Ascorbic acid

101. The Soda-acid fire extinguisher con-
e At fRo A
(@) sulphuric acid and solution of
sodium hydrogencarbonate

(b) nitric acid and solution of sodium
hydrogencarbonate

(c) sulphuric acid and solution of
sodium carbonate

(d) sulphuric acid and solution of
potassium carbonate



2 01§ ruegfions

1. The optical phenomenon that is
responsible for the propagation of light
signal through an optical fibre is

fa) interference ¢ A ?F P L
{b) scattering ao‘g

{c) total internal reflection

{d) refraction

2. Which of the following statements about
optical microscope is/are correct?

1. Both the eyepiece and objective of a
microscope are convex lenses.

2. The magnification of a microscope
increases with increase in focal

4. Lowering the atmospheric pressure on a
liquid

(a) increases the boiling point of the
liquid

(b) lowers the boiling point of the liquid

fc) does not affect the boiling point of
the liquid

(d) increases the time required for it to

boil

5. The number of angular and radial nodes
for 4d orbital is respectively

(@@ 2 and 1
length of the objective.
3. The magnification of a microscope H Laeg2
depends upon the length of the & Fana i
microscope tube.
4. The eyepiece of a microscope is a (d) 4 and O
concave lens. 6. Which one of the following statements
about proteins in mammalian cells is
Select the correct answer using the code correct?

given below.
fa) 1 and 3
fb) 3 only

(a) Proteins in mammalian cells are

synthesized in cell membrane.

(b) Proteins in mammalian cells are

c) 3and 4
(@ 1,2and 4

not synthesized in cell membrane
but directly absorbed from food.

(c) Proteins in mammalian cells are

3. Which one of the following gemstones
contains beryllium metal?

synthesized in rough endoplasmic
reticulum.

synthesized in Golgi apparatus.

* ¥ x

fa) Topaz (d) Proteins in mammalian cells are
{b) Emerald
9. The term LASER stands for
{(c) Ruby
(a) Light Amplification by Stimulated
(d) Blue sapphire Emission of Radiation

(b) Light Amplification by Spontaneous
Emission of Radiation

fc) Light Amplification by Stimulated
Emission of Rays

{d) Light Amplification by Stimulated
Energy of Radiation

AN ) Ag
Stupy FunDA
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7. Which one of the following statements
about transport mechanism in plants is
correct?

(@)

{b)

fc)

(d

Diffusion of ions and small
molecules across cell membrane
requires energy.

Active transport of ions and small
molecules across cell membrane
against concentration gradient
requires energy.

Cells conserve energy and no
energy is required for transport of
ions and small molecules against
concentration gradient.

Cells do not transport ions across
their membrane as these are
charged molecules.

8. If the amplitude of oscillation of a simple
pendulum is very small, then its time
period of oscillation

depends on the length of the
pendulum, L

depends on the acceleration due to
gravity, g

depends upon the mass of the bob
of the pendulum, m

does mnot depend upon the

amplitude of the pendulum, A

Select the correct answer using the code
given below.

fa) 1, 2 and 3

(b) 1, 2 and 4

{c)

2,3 and 4

({d) 1 and 4 only

14. Which one of the following processes is
not a part of long-wave radiation?

(a)
{b)
fc)
(d)

Conduction
Scattering
Convection

Radiation

10. Which of the following statements about
carboxylic acids is/are correct?

11.

1 9

Simple aliphatic carboxylic acids
are soluble in water.

Higher carboxylic acids
practically insoluble in water.

are

The acidity of a carboxylic acid
depends on the number of carbon
atoms present in the hydrocarbon
chain.

Select the correct answer using the code
given below.

(a)
fb)
(c)

(d)

1 and 2 only
2 and 3 only
1 only

1,2 and 3

Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-IT
(Compound) (Type of polymer)
Melamine 1. Linear
Polyvinyl chloride 2. Condensation
Terylene 3. Natural
Cellulose 4. Cross-linked
Code :
(@ A B C D
3 2 1 4
(b) A B C D
4 1 2 3
fc) A B C D
3 1 2 4
(d A B C D
4 2 1 3



22. Which one of the following statements
about blood elements is correct?

{a) Red blood cells’ number is same
as that of white blood cells and
platelets.

(b) The number of white blood cells is
more than red blood cells.

{c) The number of red blood cells is the
highest,

(d) The number of red blood cells is
lower than platelets.

26. Which one of the following statements
regarding insulin hormone is correct?

fa) Insulin is a protein hormene which
is not produced in human body.

{b) Insulin is a steroid hormene which
is produced in human body.

fc) Insulin is a cholesterol-driven
hormone given to human.

{d) Insulin is a protein hormone which
is produced in human body.

48. Which one of the following is anisotropic

in nature?
(a) Glass
{b) Rubber
(c) Plastic
(d) Quartz

49, Which one of the following is not a
condensation polymer?

(a} Nylon

{b) DNA

{c) Polythene
{d) Bakelite

23.

Which one of the following statements

regarding muscle contraction and
relaxation is correct?

fa) It involves movement of Zn* * ion.
{b) It involves Ca'' ion of blood.

(c) 1t involves release of Ca** from
sarcoplasmic reticulum (SR) and
pumping Ca'* back in SR.

{d) It involves exchange of Na and K.

24. Which one of the following statements

regarding digestion is correct?

{a) Fat present in the food is digested
by trypsin and chymotrypsin.

(b) Starch of food is digested by
lipases.

{c) Fat of food is digested by lipases.

(d) Nucleic acid is digested by
amylases.

25. Which one of the following statements is

correct?

(a) In photosynthesis by green plants,
carbon dioxide is used for making
carbohydrate.

(b) During photosynthesis, plants use
oxygen for making carbohydrate.

{c) The carbohydrate generated by
plants comes from soil.

(d) The carbohydrate generated by
plants comes from urea.

* ¥ %

wAN ) Ag
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59.

Code :

fa) Both the statements are
individually true and Statement II
is the correct explanation of
Statement 1

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement 1

{c) Statement]is true but Statement Il
is false

{d} Statement I is false but
Statement II is true

Statement 1 :
Sound waves can travel through
vacuum.

Statement 11 :

Light is an electromagnetic wave and
can travel through vacuum.

60. Statement ] :

A compass needle placed near a
current-carrying wire will get deflected.

Statement II :

A current-carrying wire creates

magnetic field around it.

76. Which one of the following instruments

77.

18 usced for measuring moisture content
of air ?

(a) Hydrometer
(b) Hygrometer
(c) Hypsometer

(d) Pycnometer

Bronze is an alloy of copper and
(a) nickel

(b) iron

(c) tin

(d) aluminium

64.

65.

66.

2017 Gueafions

Which one of the following artificial

sweeteners is modified sugar ?

(a) Aspartame c

(b) Saccharin OAPF ﬁ
2017

(c) Sucralose
(d) Alitame

Which one of the following polymers is

made of protein ?
(a) Rubber

(b) Cotton

(c) Wool

(d) Jute

Which of the following diseases are
caused by the consumption of water
contaminated by mercury and nitrate ?

(a)
(b)

Minamata disease and Osteoporosis

Osteoporosis and Blue Baby

Syndrome

(c) Minamata disease and Blue Baby

Syndrome

(d) Osteoporosis and Minamata disease

StupYy FunDA
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86. Who among the following has coined the

87.

84.

85.

term ‘Quark’, the fundamental particles
that make up protons and neutrons in an
atomic nucleus ?

(a) Richard Feynman
(b) Murray Gell-Mann
(c) Albert Einstein

(d) Niels Bohr

The mass number of an element is NOT
changed when it emits

(a) Alpha and Beta radiations only
(b) Alpha and Gamma radiations only
(c) Beta and Gamma radiations only

(d) Alpha, Beta and Gamma radiations

Liquid water is denser than ice due to
(a) higher surface tension

(b) hydrogen bonding

(c) van der Waals forces

(d) covalent bonding

Which one of the following is the
chemical name of heavy water ?
* ¥ %

(a) Hydrogen oxide

(b) Deuterium dioxide
StupYy FunpA
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(¢c) Deuterium oxide

(d) Heavy hydrogen oxide

74.

75.

113.

114,

115.
SR

Which one of the following elements is
present in the green pigment of leaves ?

(a) Magnesium
(b) Iron

(¢) Calcium

(d) Copper

Which one of the following is NOT
correct about organic farming ?

(a) It does not use genetically modified
seeds

(b) Synthetic pesticides or fertilizers are
not used

(c) It uses minimal crop rotation

(d) It uses ecologically protective prac-
tices

Which one of the following is a major
effect of long term consumption of
drinking water containing little (Iess than
0-5 ppm) or no fluoride ?

(a) Cavity of tooth
(b) Erosion of nail
(¢) Deformation of bone

(d) Mottling of tooth

Carborundum is used as an abrasive,
because it  ~APFAC o 17

(a) has high thermal conductivity

(b) has low coefficient of expansion
(¢) has high chemical stability

(d) is extremely hard

Which one of the following is NOT
decomposed by bacterial action ?

(a) Vegetable remains

(b) Plastic materials

(c) Animal carcasses

(d) Wastes of flowers



8.

Qolé @\\&97&‘10‘\%

Which one of the following is the correct

taxonomic hierarchy ?

(a) Kingdom — phylum — order — genus —
family — class — species

(b) Kingdom — order — class — phylum —
family — genus — species

(¢) Kingdom — class — order — phylum —
family - species — genus

(d) Kingdom — phylum - class — order -
family - genus — species

The subunits of DNA are known as :

(a) Nucleotide

(b) Nucleosome

(¢) Nucleoside

(d) Polypeptide

13. Which of the following are examples of

carnivorous plants?
(a) Sundew Venus fly trap, Pitcher plant
(b) Cuscuta, Rafflesia, Mistletoe

(c) Sandalwood tree, Broom rape, Pitcher
plant
(d) Cuscuta, Bladderwort, Mistletoe

* ¥
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11. How is the rate of transpiration affected by

decreasing humidity and by decreasing light

intensity ?

Decreasing humidity ~ Decreasing light
intensity

(a) Decreases Decreases

(b) Increases Decreases

(c) Increases Increases

(d) Decreases Increases

12. Vaccination involves :

(a) injecting the body with materials that
stimulate the body to produce
antibodies

(b) injecting the body with materials that
stimulate the body to produce antigens

(c) the use of monoclonal antibodies to
cure a disease

(d) use of antibiotics to cure diseases

26. Match List I with List II and select the
correct answer using the code given below

the Lists :
List I List IT
(Isotope) (Application)
A. Carbon 1. Treatment of goitre
B. Cobalt 2. Calculation of age
of the earth
C. lodine 3. Treatment of cancer
D. Uranium 4. Fuel in nuclear
reactors
Code :
A B C D
@2 31 4 ( m F
b 2 1 3 4
© 4 1 3 2 '\9 01'6
d 4 3 1 2



22. A change of state directly from solid to gas
without changing into liquid state is called :

23.

24,

25.

(a)
(b)
(c)
(d)

Fusion wf 7 2 olb
Sublimation
Diffusion

Emulsion

Water at 273 K is less effective in cooling

than ice at the same temperature. It is

because :

(a)
(b)

(c)

(d)

water is difficult to handle

water at 273 K has less energy than ice
at the same temperature

water at 273 K has more energy than

ice at the same temperature

water is not a cooling agent

Which one of the following statements is

not correct ?

(a)

(b)

(c)

(d)

The rate of evaporation depends on
temperature

The rate of evaporation does not
depend on surface area exposed to the
atmosphere but on volume of the liquid
The rate of evaporation depends on
humidity of the surroundings

The rate of evaporation depends on the
wind speed

Which one of the following is not a
colloid ?

(a)
(b)
(c)
(d)

Milk
Mud
Butter

Boric acid

37.

38.

39.

40.

Which one of the following statements is

not correct ?

(a) Bleaching powder is prepared by the
action of Chlorine on dry slaked lime
[Ca(OH),]

(b) Bleaching powder acts as a reducing
agent in many chemical industries

(c) Bleaching powder is also known as
chlorinated lime

(d) Bleaching powder is used for
disinfecting drinking water

Which one of the following statements is

not correct ?

(a) Graphite is a non-metal

(b) Graphite is an allotrope of carbon

(c) Graphite is a conductor of electricity

(d) Graphite has a tetrahedral structure

Consider the following physical quantities :
Energy, power, pressure, impulse,
temperature, gravitational potential
Which of the above is / are the vector
quantity/quantities ?

(a) Impulse only

(b) Impulse and pressure only

(c) Impulse, temperature and pressure

(d) Gravitational potential

A piece of stone tied to a string is made to
revolve in a circular orbit of radius » with
other end of the string as the centre. If the
string breaks, the stone will :

(a) move away from the centre.

(b) move towards the centre.

(c) move along a tangent.

(d) stop.



41.

42.

43.

Which one of the following statements is

not true ?

(a)

(b)

(c)
(d)

The gravitational force of earth acting
on a body of mass 1 kg is 9.8 newton
The force acting on an object of mass
5 kg moving with a uniform velocity
of 10 m/s on a frictionless surface is
Zero

The SI unit of weight is kg

The momentum of a man having mass
100 kg walking with a uniform velocity
of 2 m/s is 200 newton second

Which one of the following statements is

correct ?

(a)

(®)

(c)

(@

Acceleration due to gravity decreases
with the increase of altitude

Acceleration due to gravity increases
with the increase of depth (assuming
earth to be a sphere of uniform density)
Acceleration due to gravity decreases
with the increase of latitude

Acceleration due to gravity is

independent of the mass of the earth

A Barometer kept in an elevator reads

760 mm when the elevator is at rest. When

the elevator moves in the upward direction

with increasing speed, the reading of the

Barometer will be:

(a)

760 mm

(b) <760 mm

()

> 760 mm

(d) Zero

44. Which one of the following statements is

45.

not correct 7

(a)

(b)

(c)

(d)

The earth’s magnetic field is due to the
motion of metals like iron and nickel
in the core of the earth

The magnetic field lines of force are
widely separated near the poles of a
magnet but these lines come closer to
one another at other places

If the cross-sectional area of a magnetic
field increases, but the flux remains the
same, the flux density decreases
When the speed of a conductor moving
through a magnetic field is increased,
the induced voltage increases

Let a resistor having 4 ohm resistance be
connected across the terminals of a 12 volt
battery. Then the charge in coulomb passing
through the resistor per second is :

@ 12
(b) 4
© 3
d) 033
* ¥ %
AN /Ay
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71.

76.

Which one of the following statements

regarding baking powder is NOT correct ?

(a)

Dol Buesfions

It is a mixture

(b) It forms bubbles in a wet mixture

(c) It can be used instead of using yeast

(d) Itdoes not contain sodium bicarbonate

the Lists ;
List 1
(Compound)
A. Urea
B. Hydrous copper
sulphate
C. Lead sulphide
D. Potassium
permanganate
Code :
A B
(@ 2 1
(b)y 2 4
() 3 4
d 3 1
*

StupY FUNDA
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Match List-1 with List-II and select the
correct answer using the code given below

List-11
(Colour)

Blue
White

3. Pinkish purple
. Black

C D
4 3
1 3
1 2
4 2

83. Hemocyanin is an oxygen-transport

metalloprotein present in some invertebrate
animals. This protein contains :’

(a) one copper atom
(b) two copper atoms
(c) oneiron atom

(d) one magnesium atom

82. Match List-I with List-II and select the

correct answer using the code given below
the Lists :

List-1 List-11
(Element) (Application)
A. Isotope of 1. Treatment of
Uranium cancer
B. Isotope of 2. Treatment of
Cobalt goitre
C. Isotope of 3. Treatment of
lodine secondary cancer
D. Isotope of 4. Nuclear fuel
Radium
Code : C H?F ﬁbtf
A B C D
(@ 3 2 1 B
b 4 2 1 3
(© 4 1 2 3
@@ 3 1 2 4



88. Which one of the following statements is  89. Match List I with List I and select the
correct answer using the code given below

correct ? the Lists :

(a) Iron sulphate and copper sulphate List-I List-11
crystals have same number of water of (Scientist) (Area of study)
crystallization A. 1.D. Watson 1. Microbiology

B. Louis Pasteur 2. Taxonomy
C. Carl Linnaeus 3. Molecular

(b) Iron sulphate and zinc sulphate crystals

have same number of water of

‘ Biology

crystallization D. Charles Darwin 4. Evolution

(c) Zinc sulphate and copper sulphate Code :
crystals have same number of water of A B C b
crystallization @ 4 2 ! 3

(b) 4 1 2 3

(d) Iron sulphate, copper sulphate and zinc © 3 1 2 4
sulphate crystals each have same @ 3 2 i 4
number of water of crystallization

94. It is reported that there is an ongoing (a) Both the statements are individually

true and Statement I is the correct

decrease in the pH value of ocean water explanation of Statement I

because of global warming. It happens due (b) Both the statements are individually
true but Statement I is NOT the correct
to: : explanation of Statement I
) (c) Statement I is true but Statement II is
(a) larger uptake of CO, by ocean water false
) d) Statement I is false but Stat i
(b) lesser uptake of CO, by ocean water @ true atement I s

Statement I :- All the energy received by the

(¢) larger uptake of atmospheric nitrogen carth is from the Sun through

by ocean water electro-magnetic radiation
Statement Il : The earth also radiates back all the
(d) - lesser uptake of atmospheric nitrogen received energy through various

ways to maintain the heat budget
by ocean water of the planet



100. Which one among the following substances 106. The hydrogen atoms present in acetylene

is NOT a “green house’ gas ?
(a) Water vapour

(b) Chlorofluorocarbon
(c) Methane

(d) Nitrogen

molecule are :

(a) acidic

(b) basic

(c) both acidic and basic
(d) neutral

107. Which one of the following compounds is

111. Movement of outer electrons in the inner

orbits of an atom produces :
(a) a-ray
(b) P-ray
(c) y-ray
(d) x-ray
112. y-ray consists of :
(a) meson particles
(b) neutrino particles
(¢) Higg’s boson

(d) electromagnetic waves

Stupy FunDpDA
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NOT considered an acid ?
(a) BF,

(b) AICL

(¢) NH,

(d) CH,OH

121. Heavy water of an atomic reactor is :

(a)
(b)
(c)
(d)

deionised water
an oxide of heavier isotope of oxygen
a mixture of ice and water

an oxide of heavier isotope of

hydrogen

122. In a radioactive decay of a nucleus, an

electron is also emitted. This may happen
due to the fact that : '

(@)
(b)

(©)

(d)

electrons are present inside a nucleus

an electron is created at the time of
conversion of a neutron into proton

an electron is created at the time of
conversion of a proton into a neutron

electrons need to be emitted for
conservation of momentum



77.

78.

o?oll{ @1%9850'%

68. According to the principle of energy

conservation, when a piston in an

automobile engine compresses the gas in

a cylinder, which of the following must

occur ?

(a) Kinetic energy of gas must increase

(b) The gas must undergo a change of
state

(c) The gas must undergo a chemical
change

(d) None of the above

If a scientist reads an ambient temperature
273 K in the laboratory, what will a
doctor’s thermometer read it ?

(a) 0 degree Fahrenheit

(b) 32 degrees Fahrenheit
(c) 99 degrees Fahrenheit
(d) - 100 degrees Fahrenheit

Methane is a very potent green house gas.
It is converted to carbon dioxide to ease

74. Match List I with List II and select the

correct answer using the code given below
the Lists : '

List I List Il
(Hormone) (Function)
" A. Aldosterone 1. Maintains female
' secondary sex
: characteristics
B. Oestrogen 2. Controls circadian
rhythm
C. Melatonin 3. Salt-retaining
hormone
D. Progesterone 4. Sustains the
pregnancy
Code :
A B C D
@ 4 2 1 3
b 4 1 2 3
3 2 1 4
d3 1 2 4

its overall effect on global warming. This 98. The weight of any object is felt due to

process is known as :
(a) Blocking
(b) Ceiling
(c) Flaring
(d) Stooping

103. Match List 1 with List II and select the -

correct answer using the code given below
the Lists :
List I List II
(Cell type) (Function)
A. Red Blood Cell 1. Help blood to clot

B. White Blood Cell 2. Fight infection

C. The Platelets 3. Carmier of dissolved
substances
D. The Plasma 4. Transport oxygen
Code :
A B C D
@ 3 2 1 4
b 3 1 2 4
c) 4 2 1 3
4 1 2 3

gravity of Earth. When any object goes
inside the Earth or above the Earth, weight
decreases. It will weigh minimum when
an object is placed at : '

(a) The Equator and Moon

(b) North Pole and Saturn

(c) South Pole and 1 Km beneath the
Earth

(d) Centre of Earth and in an orbiting |

satellite x*

AN ) /Ag
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113. Match List I with List I and select the-
correct answer using the code given below
the Lists : ,

List I
(Explanation)
A. Colour of an
. opaque object
B. Colour observed 2. Reflection
through a coloured
glass
C. Bending of the
image of a rod
partially dipped
in water
D. Shining observed 4. Refraction
when one steps
on an earthworm
Code :
A B
(@1 3
b 1 4
4
3

List 11
(Term)

1. Fluorescence

3. Transmission

() 2
d) 2

&NU&Q
—‘—NNg

124. Consider the following statements
describing the functions of plants :

1. Photosynthesis is a process to convert
light energy from the Sun into
chemical energy i.e., Carbohydrates
are synthesized from carbon dioxide
and water using sun light '

2. Fermentation or Zymology is a
metabolic process that converts
carbohydrate to alcohols and carbon
dioxide

Which of the statements given above is/

are correct ?

(@) 1 only

(b) 2 only

(c) .Both 1 and 2

.(d) Neither 1 nor 2

109. Arrange the following fuels in the

111. Which of the following ions present in
low concentration in drinking water is
essential for normal growth of teeth but
‘harmful to teeth at high concentration ?
(a) Aluminium
(b) Calcium
(¢) Fluoride
(d) Chloride

116. Which of the following lamps contains a
poisonous gas and therefore should be
disposed safely ?

(a) Compact fluorescent lamp
(b) Light emitting diode

(c) Neon lamp .

(d). Halogen lamp

122. Animal cell wall is esscntxally made of :

. (a) Protein

(b) Carbohydrate
(¢) Lipid-bilayer
(d) Cellulose

106. Which of the following are mot chemical
changes ?
I. Tempering of iron
2. Conversion of iron piece into an

electro-magnet by passing the current
around the iron

3. Melting of iron
4. Rusting of iron
Select the correct answer using the code

decreasing order of air pollution caused given below :
by burning a kilogram of each of them : (@) 1 and 2 only

(b) 3 and 4 only 9
(a) CNG, Petrol,. Diesel () 1,2and 3 L
-(b) Diesel, Petrol, CNG (d) 1,3 and 4 &

wiua 2 uNDA
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(c) Petrol, Diesel, CNG
(d) Diesel, CNG, Petrol
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21. Natural gas is a mixture of gases and
contains mainly

{a) methane and higher hydro-
carbons

(b) butane and isobutene
" {¢) methane only

(d) methane, hydrogen and carbon
monoxide

22. Diamond is a polymorph of graphite.
Both contain carbon atoms, but
they have extremely different
properties because of the condition
in which they are formed. Diamond
is obtained after applying

{a) very high pressure and low
temperature

(b) very low pressure and high
temperature

(c) very low pressure and low
temperature

(d) very high pressure and high
temperature

28. Transformer is used to

1. convert low a.c. voltage to high
voltage

2. convert high a.c. voltage to low
voltage

3. convert direct current to
alternating current

4, regulate the fluctuation of
voltage

Select the correct answer using the
code given below.

ekt
903

(a) 1and 3 only (
(b) 3 and 4
{¢) 1 and 2 only

d 1,2 and 3

24. Diamond Ring, God’s Eye and Baily’s
Beads are the parts of which
one among the following natural
phenomena?

{a) Solar eclipse

(b) Aurora

(c) Lightning
Stupy FunpA
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(d) Solar storm

26. Leaves of lotus and water lily are not
easily wet because the leaves

(a) have surface uneven in micro-
scale and water cannot come
into contact with the depressed
areas due to high surface
tension

(b) contain an oily substance
(c) contain a greasy substance

(d) have surface too smooth to
attract water

27. Arsenic present in groundwater can
be partially removed

(a) along with removal of iron
by precipitation/coagulation
method if iron is also present
in the water

(b) on boiling even if iron is absent
in the water

{¢) on UV-treatment

(d) on filtration even if iron is
absent in the water



29, The filament of electric bulb is
generally made of tungsten because

(a) tungsten is cheap
(b) durability of tungsten is high

(c) light-emitting power of
tungsten is high

(d) melting point of tungsten is
high
30. Electricity meter may be a/an
(a) . mainframe computer
(b) microcomputer
(¢) hybrid computer

(d) analog computer

37. Plants capable of performing photo-

synthesis belong to which one
among the following types of
organisms?

(a) Heterotrophs

(b) Saprotrophs

{c) Autotrophs

(d) Chemoheterotrophs

31. Advanced sunrise and delayed sun-
set found in the sky are due to the
phenomenon of

{a) diffraction of sunlight
(b} refraction of sunlight
{c) scattering of sunlight

(d) total internal reflection of sun-
light

32. The formation of colours in soap
bubbles is due to the phenomenon
of

fa) dispersion of light
(b} interference of light
(c) diffraction of light

(d) polarization of light

33. Geostationary satellite completes its
one revolution around the earth in

(a) 90 minutes
(b} 24 hours
(c) 30 days
(d) 365 days

=p Y
P
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120. Statement ] :
34. What is the correct sequence of
conductivity when arranged in The mirror used in searchlight is
ascending order? parabolic.

{a) Metals, semiconductors, Statement 1I :

insulators
All the rays coming from the
(b) Insulators, metals, semi- source at the focus of a parabolic
conductors mirror are reflected as an intense

parallel beam.

(c) Semiconductors, metals,

insulators
(d) Insulators, semiconductors, 121, Statement I :
metals
Ozone is produced naturally by
the action of ultraviolet radiation
on oxygen molecule (O,) in the
35. Which one among the following upper atmosphere.
statements about ‘modem’ is
correct?

Statement II :

(a) Modem is a software Ozone depletion has been caused

by the release of chlorofluoro-

(b) Modem helps in stabilizing the carbons (CFCs) into the
voltage atmosphere,
(c] Modem is an operating system 103. Which of the following is the correct

chronological order of TV display

technologies?
(d) Modem converts the analog

signal into digital signal and {a) CRT, Flasma, LED
vice versa (b) CRT, LED, Plasma

(¢) LED, CRT, Plasma
(d) Plasma, LED, CRT

36. Which one among the following is
not a form of carbon?

(a) Graphene L
{b) Graphite C AQ ? a

fc) Fullerene \3
o)
StubY FUNDA

{d) Quartz —— OFFICER IN MAKING —




Qo2 B uesdfrovd

16. A microwave oven uses wave with a

{a) large wavelength in the

41. When an iron nail is dipped in a invisible range

solution of copper sulphate, the
iron nail becomes brownish in (b) small wavelength in the visible
colour and the blue colour of range

copper sulphate solution fades after
some time. The reaction is an
example of chemical

fc) large wavelength in the visible
range

{d) small wavelength in the
{a) combination invisible range
(b) decomposition 17. A thin pin of iron can be made to

float on water (drinking) in a bowl.
(c) displacement This phenomenon is due to the

(d) double displacement fa) surface tension of water

{b) viscous nature of water

42. Bleaching powder is added in water fc) presence of ionic bonds in
used for drinking purpose. The role water molecules
of bleaching powder in this case is {d) presence of covalent bonds in

water molecules
fa) of disinfectant

18. To start your loaded trolley bag, you
exert more force than when it is
moving. This is an example of

{b) of bleaching agent

{c) to remove impurity
{a) first law of thermodynamics
4} o decrease the pH {b) second law of thermodynamics
{c) Newton’s second law of motion
43. If four balloons A, B, C and D are
filled with hydrogen, oxygen,
helium  and nitrogen  gases ) _
respectively and left in air, which 19. You placed a car in an open parking

{d) Newton's first law of motion

balloon reaches to the highest area in a summer day. After a few

distance from the Earth? hours, you noticed that the heat
is trapped inside the car. This

(a) Balloon A phenomenon is known as

(b) Balloon B {a) ozone depletion

(b) greenhouse effect
(c) Balloon C

{c) solar effect

(d) Balloon D {d) cosmic ray impingement



44. Which one among the following is
not a greenhouse gas?

{a) Methane
(b) Ozone
{c) Chlorofluorocarbon
(d) Sulphur dioxide
45. Which one among the following salts
causes hardness to the water?
fa) Calcium bicarbonate
(b) Calcium carbonate
(¢) Sodium sulphate

(d) Potassium chloride

70. Which one among the following

causes stomach pain in human
body?

{a) Base

(b) Acid (/ﬂ ? (/

fc) Salt 3 OI\V

{d) Bacterium

71. Use of tamarind juice as a part of our
meal helps

{a) to prevent tooth decay

{b) to take care of excess fluoride
in drinking water

(c) for easy digestion of food

{(d) to increase the strength of
bones

69. How do marine animals survive in
water without air contact?

{a) They do not require any oxygen
(b) They take oxygen from water

(c) They only produce oxygen in
their body

(d) They get oxygen from water
plants

73. Byssinosis disease is common in
the workers of

fa) rubber industry
(b) ceramic industry
fc) textile industry

fd) iron and steel industry

AN ) Ag
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23.

24.

25,

50.

X o\ &u&,&%\ 018

Which one among the following statements is
correct ?

(a) Melting of ice and burning of candle
represent the same kind of chemical
change \

{b) Melling of ice is a physical change and
burning of candle is a chemical change

{¢) Meclling of ice is a chemical change and
burning of candle is a physical change

(d) Melling of ice and burning of candle

represent the same kind of physical
change

Steam at 100°C is more effective in heating
than water at the same temperature because

(a) steam is in the gaseous state and water

is in the liquid state

(b) steam has an additional heat known as
‘latent heat of vaporization’

(¢) water has hydrogen bonds but steam
does not

(d) transfer of heat from steam is casier

than water

The first large rescarch reactor of India that
uses 1J-233 as fuel is

(a) ZERLINA
(b) PURNIMA
(c) DHRUVA
(d) KAMINI

‘Hydraulic brakes’ and ‘Hydraulic lift' are

devices in which fluids are used for
transmitting

(a) force

(b) momentum

(¢) pressure

(d) power

35.

95.

Heavy waler is so called becausc it

(a) contains a number of salts as in sea
water
(b) is the mercury contaminated water

(¢)
(d)

is saline water used in hospitals

contains the heavier isotope of hydrogen
in water

Statement I : In forensic invesiigations,
DNA fingerprinting tests are
carried out.

In DNA [ingerprinting
technique, DNA is isolated and
subjected to Northern Blotting.

Statement II :

Match List I with List IT and select the correct
answer using the code given below the lists :

List 1 List I1

A. Iron oxide 1. Glossy finish on
wood and steel

B. Varnish 2. Colourless shining
protective coating
on wood

C. Ename]) paint 3. Exterior and
interior brick
walls

D. Emulsion paint 4. Preparatory

coating on steel

Code :
A B C D p&
@4 1 2 3 CHA 44
(b) 3 1 2 4
(c) 4 2 1 3 7‘ 0"
d 3 2 1 4

The name of the particle ‘Boson’ is associatec
with the name of

(a) J.C. Bose Oﬁ 'P F a??")/
(b) S.N. Bose
(¢) Isaac Newton

(d) Albert Einstein



46.

47.

48.

49.

At the time of short-circuit the current in the
circuit

(a) reduces substantially
(b)  does not change

{c) increases heavily

(d) varies continuously

Transformers are used in between the electric
power stations and homes or faclories in order

to CAPFP Qo)
(2) minimize the power loss in transmission
cables

(b) minimize the
transmission cables

voltage drop in

(c) minimize the current drop in the
transmission cables

(d) provide constant voltage at the user end

An elderly person while trying to read a hook

at about 25 em from the eyes finds the image

appears blurred because of the decreasing

effectiveness of the ciliary muscles and the

loss of flexibility of the lens. This defect of the
eyes is called

(a) myopia

(b) astigmatism

(¢) hypermetropia

(d) presbyopia

The acceleration due to gravity on the surface
of the Earth is maximum and it

(a) increases as we go up

(b) decreases as we go up or down

(c) increases as we go down

(d) neither increases nor decreases as we go
up or down

54.

73.

75.

If we know that ‘some utensils are not
microwave-safe’ is Lrue, it follows that

(a) ‘some utensils are microwave-safe’ may
be also truc

(b} ‘no utensils are microwave-safe’ must be
true

(¢} ‘no utensils are microwave-safe’ must be
false

(@) Sf anything is a utensil, it must be
microwave-safe’ must be true

Vehicles carrying inflammable materials

usually have metallic ropes touching the
ground during motion in order to

{a) control the speed of the vehicle
(b) conduct the charge produced by friction

{c) conduct the current produced by

inflammable material

(d) provide earthing for lightning

What is the correct sequence for treatment of
polluted surface water ?

1.  Disinfection and fluoridation

2.  Screening and mixing

3. Fleoeculation and sedimentation
4.  Filtration and sludge processing

Select thce correct answer using the code
given below :

(a) 1-2-34
(b) 3-4-1-2
(¢) 2-34-1
(d) 3-2-1-4




97.

76.

101.

Father and mother having A and B blood
group respectively

(a)

(b)

(c)

(d)

cannot give birth to child with AB blood
group

cannot give birth to child with O bloodI

group

can give birth to child with O blood
group

cannot give birth to twin child with B
blood group

Match List T with List II and selcct the
correct answer using the code given below

the lists :
List I List II
(Plant) (Biofertilizer)
A.  Soyabean 1. Anabaena
B.  Azolla 2. Rhizobium
C. Pine 3. Azospirillum
D. Maize 4. Mycorrhiza

{a)
(b)
(c)

(d)

A B C D

3}
—
=N
w
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Which one among the following cell organelles
in a Eukaryotic cell is acquired during the

process of evolution by entrapment or
engulfment of Bacterial cells ?

(a) Peroxisomes

(b)  Vacuoles

(c) Chloroplasts

(d) Mitochondria

103.

104,

(a)
(b)

(c)
(d)

Relative humidity

(a) increases with increased temperature
(b) decreases with increased temperature
(c) decreases with decreased temperature

(d) has mno relation with
decrease of temperature

increase or

The process by which heat is transmitted from
the Sun to the Earth is called

(a) Conduction
(b) Convection
(c) Radiation

(d) Cosmic disturbances

[12. A camecl adapts casily in a desert due to

hump with stored food as fats

water cells in stomach to store metabolic

water
nucleated Red Blood Cells

hair growth near eyes and nostrils

If a healthy freshwater fish is placed in
saltwater, the fish

(a)
(b)
(c)
(d)

becomes dehydrated and dies
becomes bloated and dies
suffers from microbial infection and dies

experiences no problem




21.

22.

23.

24.

25.

Qolo Bueghonk

Which one of the following elements has
valency three ?
- (a) Oxygen
(b) Lithium
(c) Carbon
(d) Boron
Which one of the following has highest"
energy ? N
(a) o-rays ) *
(b) B-rays |
(c) y-rays
(d) X-rays = Ax
Glass is a Stupy FunpA

(a) vitrified liquid.

(b) crystalline material.

(c) semisolid.

(d) polymeric material.

Which one among the following is a

physical process ?

(a) Digestion of food

(b) Corrosion or rusting of a metal

(c) Production of hydrogen from an acid

(d) Sublimation of iodine

Smoking causes oxygen deficiency in the

body because of : '

(a) increase in SO, levels in blood.

(b) decrease in O, content in blood.

(¢) increase in CO and CO, contents in
blood.

(d) increase in only CO content in blood.

27. Which organ in animals breaks fat to
produce cholesterol ?
(a) Kidney
(b) Heart
(¢) Lungs
(d) Liver

28. The coconut water from a tender coconut
is :

(a) an embryo.

(b) a free nuclear endosperm with
multiple nuclei.

(c) a cellular endosperm.

(d) -a non-nutritive fluid.

29. A patient suffering from a prolonged illness
and on an antibiotic regime is
recommended intake of probiotics in his
diet. These probiotics are supplements
essentially comprising :

(a) proteins.

(b) vitamins.

(¢) lactic acids bacteria.
(d) electrolytes.

26. The rate of breathing in aquatic animals/
organisms is much faster than that seen
in terrestrial organisms. This could be
attributed to :

(a) high amount of dissolved oxygen in
water as compared to the amount of
oxygen in air.
high amount of oxygen in air as
compared to the amount of dissolved
oxygen in water. '
presence of gills in aquatic organisms.
low amount of dissolved oxygen in
water as compared to the amount of
oxygen in air.

(b)

(©)
(d)

Stupy FunDA
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32.

33.

34.

35. Spectacles used for viewing 3-Dimensional

36.

The Stethoscope used by a medical
practitioner is based on the phenomenon
of :

(a)
(b)
(©)
(d)
The Earth travels on its orbit at a speed

of approximately 4400 km per hour. Why
do we not feel this high speed ?

(a) We are too small compared to the
size of the Earth

Our relative speed with respect to
the Earth along the Earth’s orbit is
zero

(c) The gravity of the Earth constantly
pulls us towards the Earth’s centre

(d) The solar system as a whole is also
moving

multiple reflection of sound waves.
scattering of sound waves.
refraction of sound waves.

none of the above.

(b)

‘During free fall of an object :

(@)

its potential energy increases and 1ts
kinetic energy decreases.
(b)

its potential energy decreases and its
kinetic energy increases.

both its potential energy and kinetic
energy increase.

both its potential energy and kinetic
energy decrease.

(©)
(d)

films have :

(a) convex lens.
(b) polaroids.
(c) concave lens.
(d) bifocal lens.

Which one of the following pairs of rays

is not electromagnetic in nature ?
(a) X-rays and cathode rays
(b) Gamma rays and X-rays
(c) Alpha rays and beta rays

(d) Beta rays and gamma rays

31

37.

39.

40.

90.

A person may bleed from the nose when
at a great height above the sea level. With
reference to this, which one of the
following statements is correct ?

(a) The pressure exerted by the blood in
blood capillaries is slightly less than
the atmospheric pressure

The pressure exerted by the blood in
blood capillaries is more than the
atmospheric pressure

There is no difference in the internal
and external pressures on the walls
of the cells and blood capillaries
Blood capillaries in the nose can
absorb less oxygen at greater height

so it bursts

(b)

(c)

(d)

Gases may be distinguished from other
forms of matter by their :

(a) lack of colour.

(b) ability to flow.

(c) inability to form free surfaces.

(d) ability to exert a buoyant force.

Ice is lighter than pure water and floats
on the surface. Which one of the following
statements is correct to explain this
phenomenon ?

(a) The structure of ice is similar to that

of water

(b) Ice has a disordered 3-dimensional
structure

‘(c) Hydrogen-bonding in ice gives an
open type structure with interstitial
holes

(d) There is no hydrogen bonding in
water

Which one of the following is a
compound ?

(a) Milk

(b) Sugar

(c) Tea

(d) Coffee

Plants that behave as a Xerophyte in one
season and as hydrophyte in another season

is known as :

(a) Saprophytes * A
(b) Tropophytes @
(c) Heliotrophytes AN /A

StupYy FUNDA
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(d) Virotophytes



45. Which among the following is/are the

48.

reasons behind using Mercury in
thermometers ?

1. Mercury does not wet the inner sides
of the thermometer.

2. It can be seen easily in a thin capillary

tube of the thermometer.
3. It is a good conductor of heat.

4. It is non-toxic.

Select the correct answer using the code

given below :

(a) 1 only

(b) 1 and 2 only
(c) 1,2 and 3
(d) 3 and 4

Match List-I with List-II and select the
correct answer using the code given below
the lists :

List-1 List-11
(Phenomenon) (Reason)

A. Reverberation 1. Occurs when
two waves of
equal frequency
superpose

B. Resonance 2. Occurs when
two waves have
slightly diffe-
rent frequencies
superpose

C. Refraction 3. Prolonged echo

of light 4. Occurs as a ray
of light enters a
second medium

Code :

A B C

(@ 4 3 1

(b) 4 3 2

) 2 1 4

@3 1 4
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42.

43,

72.

73.

Which of the following are the risk
factors in the transmission of the HIV
infection ?

1. Smoking and di'inking alcohol
2. Observing bad hygiene

3. Blood transfusion

4. Unprotected sex

Select the correct answer using the code
given below :

(a) 1 and 3 only
(b) 3 and 4 only
(¢) 1,3 and 4
(dy 1,2 and 4

Which of the following is/are the methods
of prevention from HIV infection ?

1. Use of condoms.

2. Use of intra-uterine dévices like
Copper-T.

3. Staying away from HIV infected
person.

4. Using a face mask when in company
of HIV infected person.

Select the correct answer using the code
given below .:

(a) 1 and 2 only
(b) 3 and 4

(¢) 1,2and 4
(d) 1 only

Heéwy water is used as
moderator in nuclear
reactor.

Statement [

Thermal neutrons are
used for fission
reaction in a reactor.

Statement 11

Conversion of coal to
diamond is a physical
change.

Statement 1

Physical change does
not change the
composition of the
material.

Statement 1I :
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45.

38. Aquatic animals breathe much faster than

terrestrial animals because of :

(a) low amount of dissolved oxygen in
water

(b) low amount of hemoglobin in their
blood

(c) high metabolic rate of aquatic animals

46.

(d) large amount of dissolved nitrogen
in water

40. Which one of the following statements is

not correct about “Flavr Savr” tomatoes ?

(a) It is genetically engineered

(b) Its ripening process is slow

(¢) The fruit cannot be left on the plant
for a long period

47.

(d) They have increased yield and better
flavour

42. Which one of the following chemicals is

43.

an artificial sweetener prescribed to
diabetic persons ?

(a) Aspartame

(b) Glucose

(c) Sucrose

(d) Maltose

Villagers in some parts of India use the
water extract of the ash obtained by burning
banana plant as a substitute of soda. Which
one of the following is the major active

component in the extract ? %3

(a) Sodium Carbonate
(b) Potassium Carbonate
(¢) Calcium Oxide

(d) Magnesium Oxide
b N\ &
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48.

In some parts of India, consumption of
underground water causes mottled teeth
and bone damage. Which one of the
following is responsible for this malady ?
(a) Fluoride ion

(b) Chloride ion

(c¢) Oxide ion

(d) Carbonate ion

Sometimes, the consumption of local made
alcoholic beverages may cause blindness
or even death. This may be because of
contamination of the beverages with :
(a) Vinegar

(b) Carbolic acid

(c) Methyl alcohol

(d) Formic acid

Which one of the following lenses would
you prefer to use while reading very small
letters printed on a label ?

(a) Convex lens of large focal length
(b) Concave lens of large focal length
(c) Convex lens of small focal length

(d) Concave lens of small focal length

The explanation of, why we get thrown
back with a jerk when the stationary bus
we are sitting in starts moving forward is
given by :

(a) Zeroth law of gravity

(b) Newton’s first law

(c) Newton’s second law

(d) Newton’s third law

What happens to the soil, where soil water

freezes and it tends to form ice layers

parallel with the ground surface ?

(a) It heaves the soil upward in an uneven
manner

(b) It heaves the soil downward in an
uneven manner

(c¢) It heaves the soil both upward and
downward in an even manner

(d) It remains unaffected



85. Consider the following statements :
1. The Earth receives the Sun’s energy
at the infrared end of the spectrum.

2. The Earth re-radiates the Sun’s heat
as ultraviolet energy.

Which of the above statements is/are

correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

StupYy FUNDA
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122. Assertion (A):

Reason (R)

123. Assertion (A):

Reason (R)

A person suffering from
myopia uses a concave
lens.

: A concave lens diverges

a beam of light incident
on it.

The “Green Belt”
represents a planning
concept for controlling
the physical expansion of

large cities.

“Green Belt” is an
integral component of a
city.

44. Match List-1 with List-II and select the
correct answer using the code given

below :
List-1

(Process)

A. Aeration followed 1.

by filtration

B. Reverse Osmosis 2.

C. Filtration through 3.
activated carbon
D. Treatment with UV 4.

light
Code :

A B
(@ 3 1
(b) 4 3
c) 3 4
d 2 4

124. Assertion (A) :

Reason (R)

125. Assertion (A) :

Reason (R)

List-11
(Contaminant)
Removal of
colour
Removal of
microorganism
Removal of
iron
Removal of

excess salts

W= N

In areas of intensive
subsistence agriculture,
animal husbandry plays
an insignificant role.

: Throughout the region,

the farmers are
handicapped in raising
cattle due to lack of
scientific methods of
breeding.

Nitrogen gas is used to
provide inert atmosphere
in chemical reaction.

: Nitrogen gas has a very

little chemical reactivity
at ordinary temperature.
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